Gr11 BUSINESS STUDIES  JULY 2007 EXAM ANSWER SCHEDULE
Section A:

Question 1:

1.1 Lobbying√
1.2 Chamber of commerce√
1.3 Control√
1.4 Cartel√
1.5 Monopoly√
1.6 Quasi Government√
1.7 Trade Union√
1.8 Niche market√
1.9 Quotas√
1.10 Market environment√
Question 2:

Micro-economic environment…refers to the internal working of a business such as the management systems, the people employed, the activities, communications, relationships, etc, which the business is able to technically and/or tactically control through efficient decision-making.√√√
Factors which impact on this environment are consumer preferences, activities of competitors, the available capital and other resources, government staffing regulations.

Challenges in this environment would be the businesses mission statement, employee skill levels, retention of employees, ‘difficult’ employees, trade unions, and so on.√√√
The market environment…comprises all the essential elements immediately outside the business which the business takes into account when making decisions and conducting its business.  So, while these elements, which are not under the control of the business, play a big role, management is still able to control their activities and beneficially influence the outcome.√√√
Factors which impact on this environment are consumers, suppliers, competitors, bankers, and intermediaries such as wholesalers and agents.√√√
The macro-environment…consists of those elements outside the business of a national or international/global nature, over which the business has no control whatsoever.  The business can only analyse and examine these elements and adapt itself to meet the challenges they present. √√√

Factors/challenges which impact on this environment are things like:√√√
· The natural/physical environment…shortage of raw materials, drought, etc

· The institutional/political environment…legislation passed by the govt, etc.

· The social environment…low levels of education, unemployment, shortage of skilled labour, decreasing standards of living, high levels of crime, HIV/AIDS sicknesses, etc.

· The technological environment…technological advances, e-commerce, the IT industry challenges, communications, etc.

· The economic environment…fiscal and tax policies, international trading…

· The international environment…exports and imports of goods and raw materials, international competition, trade barriers, economic unions, etc 
Question 3:

3.1
x2 contemporary socio-economic issues and say why they are important in the 
Southern African region.

· Poverty √
     }

· Unemployment √    }

· HIV/AIDS√
     }

· Crime and piracy √ }

3.2
Any sensible explanation of two (2) of the above answers.√√√√√√ 

Question 4:

A trade union is an organization to which employees belong which represents them in their negotiations with their employers.
Organised labour has played an increasing role in South Africa’s transformation progress since 1994.  Workers, through their Trade Unions, play an important role in the redistribution of wealth.

In the interests of building sound labour relations with workers, it is important that business owners and management should collaborate with established trade unions to negotiate wages and benefits on behalf of workers.
If employers do not consult properly with the representatives of the workers in the Trade Union, one has a situation developing, as has just occurred with the latest Public servants strike in June, where workers completely disrupt the day to day functioning of public departments including hospitals and schools, while waiting for their demands for higher wages and better working conditions to be met.  Action such as this can be severely prejudicial and disruptive to all citizens and results in huge costs to the countries economy, inconvenience to young and old, school children, pensioners, and patients alike, as well as the huge cost to the striking workers through loss in wages.

On the positive side, Trade Union representation can bring about beneficial changes for workers.  It provides them with an avenue to talk to management and also be represented on all management’s decision-making bodies. Workers are seen to be participating in transparent decision-making as opposed to being dictated to by management.  
Question 5:

5.1 True

5.2 True

5.3 True – there is really only very limited control.
5.4 False – the canvassing of clients is considered good practice.
5.5 True

5.6 True

5.7 False – they do not have to belong to the same trade union.
5.8 True

5.9 False – it stands for Congress of South African Trade Unions

Section B:

Question 6:

6.1 Learner must state his business and FoO preference and give two sensible reasons 
motivating his choices/answers.
6.2 Six entrepreneurial qualities required:

· Vision

· Risk-taking

· Perseverence

· Diligence

· Good management skills

· Good interpersonal skills

6.3 Factors that need to be taken into consideration when choosing a FoO:

(max 6x4 marks each = total 24 max)
· Size and Nature 

· Control and involvement of the owners

· Capital requirements

· Not a factor but needs discussion = whether it’s a seperate legal person or not

· Continuity of existence – include discussion on separate legal person or not

· Liability for debt of owners – discussion on separate legal person or not

· Taxation - discussion on separate legal person or not

· Legal requirements for formation and existence.

Question 7:

7.1 A Close Corporation/Company…is a Juristic person having a separate legal identity from its owners and, as a separate legal person, it would pay tax on the taxable income at 29%.  In addition to this, it would also pay a secondary tax on the dividends declared to members/shareholders at 12,5%.  

7.2 Tabulate x3 differences between a CC and a Private Company:

The answer should show differences on the following points:

· The name

· The number of members/shareholders

· The owners are called members/shareholders

· There is a %contribution vs a shareholding

· There are more legal requirements to forming the Company than the CC

· The CC only needs an Accounting Officer/ the company needs an Auditor

· The CC has a Founding Statement/the Company has a Memorandum & Articles of Association.
Question 8:

8.1 A shareholder is…an owner of shares in a company and, as such, he is an 
“owner” of the company and has a vote at company AGM’s.  The extent of his say 
depends on the size of his shareholding.
8.2 
A “company going bankrupt” means that the company does not have enough 
money 
/cash in its bank account or flowing in from its business operations, to pay 
its current liabilities/creditors.  Creditors will sue the company for whatever 
money 
they can get out of the company and the company will go out of business through 
being insolvent.
8.3 
The most you can lose as a shareholder is the total amount you have invested in the company because the company is a separate legal person and is responsible for its own debts.  The shareholder has limited liability to the extent of his/her investment in the company.
8.4 
Two duties of the Board of Directors:
· To hold the AGM

· To declare a dividend based on the profits for the year

· To guide the operational decisions of the company

Question 9:

9.1 False

9.2 False

9.3 False

9.4 True

9.5 True

Question 10:


10.1 Risk-taking


10.2 Gantt chart


10.3 Flow chart


10.4 Bar graph


10.5 Inter-personal skills


10.6 Timeline

Question 11:

Outsourcing…is when a business transfers the ownership of a process to a supplier.  The buyer does not instruct the supplier on how to perform the tasks but instead focuses on communicating what results the business wants to buy.  The business/buyer leaves the process of achieving those results to the supplier which controls its own operation and plans how it will meet its commitments.  The supplier must deliver the necessary goods and services at the required time and place.

Contracting out…is when the business/buyer retains control over the process or tells the supplier exactly how, when, where and for how much a particular job, good and/or service should be made available to the business/buyer.  The buyer, therefore, exerts considerable control over the operation of the contracting business.

Question 12:

12.1 Leasing is a contractual arrangement whereby one party (the lessee) uses an asset owned by the leasing business (the lessor) in exchange for specific periodic payments.

12.2 In a developing economy…businesses often struggle to get going, have little 
security or capital and would not be able to afford the equipment needed 
otherwise.

Additional points for discussion are:

· Governments promote leasing as a way to encourage investment

· Leasing offers other benefits as it broadens competition in financial services

· It introduces businesses and financiers to innovations such as credit analysis based on the cash flow of a business rather than on historical information provided by balance sheets.
· Simple financial security arrangements mean that SME’s can get lease finance more easily than bank loans.

· Leasing may be the only form of medium- to long-term finance available to a business for purchasing equipment.

· Leasing contracts are flexible and can be structured to meet the cash flow needs of the lessee.

· Leasing is a convenient form of financing because it can be arranged quickly

· Little or no cash is required.
Question 13:

Instead of borrowing the R500,000, which would attract high monthly interest payments,  as well as having to be paid back, I would advise him to borrow R200,000 for the six months and lease the machinery to increase the factory capacity.

In this way one could use the R200,000 to purchase raw materials for the business while at the same utilizing the leased machinery to process the raw materials into finished goods ready for selling to meet the increased orders and so generate cash for the business.  In this way he can both pay the loan back to the bank as well as secure the longer term business prospects through having the increased cash flow to pay the monthly lease installments while already having the additional machinery to process bigger orders.
He thus has the benefits of both worlds.

Question 14:

14.1 The two types of amalgamations that may occur are:

· A Merger…which is where two businesses combine to form one business where a small business merges into a bigger business or where two or businesses of roughly equal size combine to form a brand new business.

· A Takeover…which is where one business buys out a certain percentage of the issued shares of another business.  This can be where the Holding company buys not less than 30% of the issued shares of the Subsidiary company, or where the Controlling company buys more than 50% of the issued shares of the Controlled company.

14.2 Amalgamations may happen on three (3) levels, namely:

· Horizontal…where two or more companies in the same industry and at the same stage of production combine.

· Vertical…where two or more companies in the same industry but at different stages of production combine.
· Conglomerate…where two or more companies in different industries and different stages of production combine.

